Lattice Multiplication (D)

Use lattice multiplication to find each product.

30 1 3 7 2 2 5
4 5
5 1
9 0
7 3
1 5
3013 x 45971 = 7225 x 51035 =
4 7 2 4 5 3 8 0
4 1
9 5
1 2
2 5
6 2
4724 x 49126 = 5380 x 15252 =
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Lattice Multiplication (D) Answers

Use lattice multiplication to find each product.

3 0 1 3 7 2 2 5

1 0 0 1 4 3 1 | 2 5
1 2 0 4 2 3 5 0 0 5

L 10 /10 A1 /) s o 10 710 10 /] 4
3 5 0 5 5 6 7 2 2 5

2 0 0 2 9 0 0 0 0 0
8 7 0 9 7 8 0 0 0 0

2 0 0 2 7 2 0 0 ] 3
5 1 0 7 1 7 1 6 6 5

0 0 0 0 1 3 1 1 2 5
1 3 0 1 3 2 5 0 0 5

0 6 2 3 7 8 7 5

3013 x 45971 = 138,510,623 7225 x 51035 = 368,727,875
4 7 2 4 5 3 8 0

1 2 0 1 4 0 0 0 0 1
2 6 8 8 6 0 5 3 8 0

3 6 1 3 9 2 1 4 0 5
3 6 3 8 6 8 5 5 0 0

0 0 0 0 1 1 0 1 0 )
2 4 7 2 4 2 0 6 6 0

0 1 0 0 ) 2 1 4 0 5
0 8 4 4 8 0 5 5 0 0

2 4 1 2 6 1 0 1 0 o)
7 4 2 2 4 5 0 6 6 0

| 2 2 4 5 7 6 0

4724 x 49126 = 232,071,224 5380 x 15252 = 82,055,760
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